6 Review day 1.notebook

1.)Thrce gears are arranged as shown.
“Determine the measure of angle 8
correct to the nearest degree.

For problems 2 and 3 round your answer to the nearest tenth.

2. Solve the triangle given B =43,a=22, b =17.

3. Find the area of a triangle with sidesa=6,b=12,c=7.
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In Exercises 1-4, find the dot product of u and v.

Lou=(63) 2. u=(-4,1)
v=(2,-4) v=1{2,-3)
Ju=Si+] 4du=3i+2

v=3i-j v=-2i+]

v = (-3,4),
ed quantity. State
.

In Exercises 11-16, use the dot product to find the magni-
tude of u.

1L u=(-512) 12 u=(2 -3
13, u = 20i + 25§ 14, u = 6i — 10
15, u = —df 16. u=9i

In Exercises 17-24, find the angle 0 between the vectors.

1. u = {-1.0) 18 u = (4.4)
v=1{02) v=(-2,0)

19, u =30+ 4] 20, u=2i-3f
v=-2+3f v=i-3j

MWu=2 22 u=4j

-3 v=-3i

yis
2.0= m\%’)l + m\[:%)j
v = cos(22)i 4 sinf2)s

In Exercises 25-28, graph the vectors and find the degree
measure of the angle between the vectors.

26 u=-6-3

3 - 5§ v=-8i+4
7. 0=6i - 2 u=2-3
=8 - 5§ v=di+ 3

In Exercises 29 and 30, use vectors to find the interior
angles of the triangle with the given vertices.

29. (1.2).3.4. 25

30. (-3,0),(2.2). (0,6

In Exercises 31 and 32, find u - v, where 0 is the angle
between u and .

3mr
3L juf=olv|=36.0= 3
Jul =9.1vl =

Homework Questions
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Review Practice Problems

1. Use the given vectors for the following: v=(-2,3) w=(5,1)
a. sketchw-v

b. find the unit vector for vector v

c. find the trig component form of vector w (calc ok)

‘l
(\fz—e cos i3l (2 sin us\> 4
“V“:\| L2y = \fz_(. \

‘h“@ = "‘5- 6 5 4 3 2 -
[ D= 113\

S &b b b v L

(13) OO |

| [vii={4 +a V&

Yno = 2 (ep)
9= 5.3
i

<1’5, cos 69, 13 sm 123, 6 )
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2. How many triangles with given information can be formed?

Do not solve.
2lsmn bl = h =13.%)

a.A=61°i =8, b=21
‘_(_ay <1337 ne O
\

b. A=112° , a=15>b= 17

't;s b>a no D
N\

c. B=18°, C=65", c=12

@ 2 mﬁlu %chs I A
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3. Solve the triangle to two decimal places.

a=7,b=15 ¢=19 (—,-5_&1_|q1
a=1>=1

1= 1t +1q8-2(19)(9) e A f- cos' 2(sX9) ) =149.59

|87 197 20)(\A)eosh @ = (oot TNEN | 4c g3 hs.aav/

)
=20
=73+ 15 -20)s)ws C . (lq Lyt \ L 4.4
C: ot e ) ha
4. Twelve horses are equally spaced on a merry-go-round. If the chord
connecting the center of each horse is 18 feet long, what is the diameter of

the merry-go-round? What is the length of the arc between each horse?

3]
Sm3d  SmS
© ® =
e300 0 7 psn(eR)
Y= 3
=132\ &
4 acs s 2
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HOMEWORK
Review

p 461 1-73 odd, 79-90, 93, 95
p 465 1-15

Workbook p 151-152 1-12

p 445 2,10, 28, 30, 32
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1. Solve the triangle.
B=35b=12,c=15

1. Solve the triangles given the following information.

a. C=75 ,b=49, c=48
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